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00 HaskellDOOOOUOOOOODOOOODOOO
O: take 5 ({rom 1) =>0:[1, 2, 3, 4, 5]

U000 Otaked fromJ0 000 000000000000 DOOOOOOOO0

from :: Integer -> [Integer];
from n = n : from (n+l);

take :: Integer -> [a] -> [a];
take 0 = [1;
take =[] ;

_ 0
take n (x:xs)

x : take (n-1) xs;

(1) take 5 (foo ® (iterate (\ x -> 2 * x) 1))

2 [ x*y | x<-1[1, 2, 3], y <- [4, 5, 6], even (x+y)]
000000000000000000000 -10000M

000 O000o00000bo00oobo00o0oo0ooooooooan
iterate :: (a -> a) -> a -> [a];
iterate f a = a : (iterate f (f a));

foo :: Integer -> [Integer] -> [Integer];
foo i [] [1;
foo i (x:xs) i

: foo (i+x) xs;
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e 10000 dynamic binding]

e 00000 lazy evaluatiomn

e 00 OO OO encapsulation

e CP$I continuation passing style
e [0 00 polymorphisniJ

e 000D overloading?
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